

# Correction:

$$\frac{\sum x^1}{\dots}$$

$$\frac{1}{e^\alpha} = e^{-\alpha}$$



$$A = (e^\alpha)^2 - \frac{1}{e^{-2\alpha}} = e^{2\alpha} - (e^{-(2\alpha)}) = e^{2\alpha} - e^{2\alpha} = 0$$

$(e^\alpha)^m = e^{m\alpha}$

$$B = (e^\alpha + e^{-\alpha})^2 - (e^\alpha - e^{-\alpha})^2$$

on deve.  
-l'oppe

$$\begin{aligned} &= ((e^\alpha)^2 + 2 \times e^\alpha \times e^{-\alpha} + (e^{-\alpha})^2) - ((e^\alpha)^2 - 2 \times e^\alpha \times e^{-\alpha} + (e^{-\alpha})^2) \\ &= (e^{2\alpha} + 2e^{\alpha+(-\alpha)} + e^{-2\alpha}) - (e^{2\alpha} - 2e^{\alpha+(-\alpha)} + e^{-2\alpha}) \\ &= \cancel{e^{2\alpha}} + 2e^0 + \cancel{e^{-2\alpha}} - \cancel{e^{2\alpha}} + 2e^0 - \cancel{e^{-2\alpha}} \\ &= 4 \quad (\text{car } e^0 = 1) \end{aligned}$$

$$C = e^{-\alpha} \left( e^{2\alpha} - \frac{1}{e^\alpha} \right) = e^{-\alpha} \times e^{2\alpha} - \frac{e^{-\alpha}}{e^\alpha} = e^{-\alpha+2\alpha} - e^{-\alpha-\alpha} = e^\alpha - e^{-2\alpha}$$

$$D = \frac{e^{2\alpha+1}}{e^{1-\alpha}} = e^{(2\alpha+1)-(1-\alpha)} = e^{2\alpha+1-1+\alpha} = e^{3\alpha}$$

(pour faciliter l'écriture on peut écrire:  $\exp(2\alpha+1-1+\alpha)$ )